
日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 7 × 8 − 6 ÷ 2

2

＝ 1 4 ÷ 2

＝ 7 × 2 ÷

＝

② 4 0 ÷ 6 × 8

＝ 4 0 ÷ 4 × 8

−

＝

2

＝ × 8

❸

１

① 例題

(うすい字はなぞりましょう。)

❸

＜筆算スペース＞

❸

❷

❶

(

❶

❷

❷
❶

❷

❶

❸

)

( )



＝ 5

・ 計算をしましょう。

① 5 × 7 − 3 ÷ 4

5

÷

日にち：　　月　　日

名まえ

4

＝ ÷ 4

× 4

② 3 6 ÷ 6 3 × 6

＝

20

÷ ×

−

6
12

36

＝

＝ 3 6

× 6
72

＝

② 確認

2

❸

(うすい字はなぞりましょう。)

❸

＜筆算スペース＞

❸

❷

❶

(

❶

❷

❷
❶

❷

❶

❸

)

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 3 × 9 − 1

÷ 2

÷ 2

＝ 3 × ÷ 2

＝

② 1 8 ÷ 9 6 × 7

＝

÷ ×

−

7
18

＝ ×

＝ 1 8

7

＝

③ 確認

3

❸

(うすい字はなぞりましょう。)

❸

＜筆算スペース＞

❸

❷

❶

(

❶

❷

❷
❶

❷

❶

❸

)

( )



＝ 9

・ 計算をしましょう。

① 9 × 8 − 4 ÷ 6

6

÷

日にち：　　月　　日

名まえ

6

＝ ÷ 6

×

② 2 1 ÷ 5 2 × 5

＝

36

÷ ×

−

5
7

21

＝ ×

＝ 2 1

5
35

＝

④ 確認

4

❸

(うすい字はなぞりましょう。)

❸

＜筆算スペース＞

❸

❷

❶

(

❶

❷

❷
❶

❷

❶

❸

)

( )



・ 計算をしましょう。

① 1 2 × 6 4 － 5 9 ÷ 3

÷

日にち：　　月　　日

名まえ

3

＝ 6 0 ÷ 3

＝ 1 2 × 5

＝

② 9 × 2 2 － ÷ 8

＝

1 4

＝ 9 × 8 ÷ 8

2 － 7 7 × 3③ 1 0 5 ÷ 8

④ 8 4 ÷

＝ 1 0 5 ÷

1 6 － 9 × 5

５

⑤ 定着

(うすい字はなぞりましょう。)

＜筆算スペース＞

( )

( )

( )

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

12 56 48

－ 4 8 ÷ 6
8

① 1 2 × 5 6

6

＝ ÷ 6

＝ 1 2 × 8 ÷

② 6 × 3 1 －

＝
31 25

2 5 ÷ 2

＝ 6 × 6 ÷

＝
125 92

2

＝ ÷

87

③ 1 2 5 ÷ 9 2 － 8

25

7 × 2
5

＝

36 12

－ 6 × 4
6

④ 3 6 ÷ 1 2

6

(うすい字はなぞりましょう。)

＜筆算スペース＞

( )

( )

( )

( )

⑥ 定着

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

56 32 28

－ 2 8 × 5
4

① 5 6 ÷ 3 2

＝ ×

＝ 5 6 ÷ ×

② 2 × 1 1 －
11 5

5 × 8
6

126 81 75

③ 1 2 6 ÷ 8 1 － 7 5 × 3
6

22 13

－ 9 ÷ 2
4

④ 2 2 × 1 3

7

(うすい字はなぞりましょう。)

＜筆算スペース＞

( )

( )

( )

( )

⑦ 定着



日にち：　　月　　日

名まえ

・ 計算をしましょう。

12 31 24

－ 2 4 ÷ 4
7

① 1 2 × 3 1

② 6 × 1 2 －
12 8

8 × 3
4

112 61 54

③ 1 1 1 ÷ 6 1 － 5 8 × 2
7

81 17

－ 8 ÷ 9
9

④ 8 1 ÷ 1 7

8

＜筆算スペース＞

( )

( )

( )

( )

⑧ 定着



日にち：　　月　　日

名まえ

・ 計算をしましょう。

10 72 63

－ 6 3 ÷ 6
9

① 1 0 × 7 2

② 2 × 1 5 －
15 7

7 × 4
8

212 52 48

③ 2 0 0 ÷ 5 2 － 4 8 × 2
4

84 11

－ 7 ÷ 7
4

④ 8 4 ÷ 1 1

9

＜筆算スペース＞

( )

( )

( )

( )

⑨ 定着



－ 3④ 7 2 ÷ 1 1 × 5

③ 8 ＋ 2 4 ÷ 2 × 6

÷ 3② 1 5 × 2 3 － 1 3

0 － 4 4 × 7

日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 1 2 6 ÷ 5

10

⑩ 仕上げ

＜筆算スペース＞

( )

( )

( )

( )



日にち：　　月　　日

名まえ

42

・ 計算をしましょう。

① 6 × 4 ＋ 9 ÷ 3

54 45

② 8 × 5 4 － 4 5 ÷ 8
9

182 66 59

6 － 5 9 × 4③ 1 0 5 ÷ 6
7

21 14

－ 7 × 9
7

④ 2 1 ÷ 1 4

11

＜筆算スペース＞

( )

( )

( )

⑪ 仕上げ

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

64 45 37

－ 3 7 × 4
8

① 6 4 ÷ 4 5

② 5 × 6 ＋ 9 ÷ 3
30

172 53 49

3 － 4 9 × 3③ 1 0 0 ÷ 5
4

13 12

－ 9 × 6
3

④ 1 3 × 1 2

12

＜筆算スペース＞

( )

( )

( )

⑫ 仕上げ

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

10 66 57

－ 5 7 ÷ 2
9

① 1 0 × 6 6

15 9

② 4 × 1 5 － 9 × 8
6

③ 4 5 ÷ 2 1 － 3 × 6

459 12

④ 1 2 6 ÷ 1 2 － 9 ÷ 2
3

13

＜筆算スペース＞

( )

( )

( )

⑬ 仕上げ

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

12 61 56

－ 5 6 ÷ 3
5

① 1 2 × 6 1

② 9 × 1 1 －
11 9

9 × 7
2

192 66 62

③ 1 0 4 ÷ 6 6 － 6 2 × 5
4

④ 7 ＋ 4 8 ÷ 4 × 4

14

＜筆算スペース＞

( )

( )

( )

⑭ 仕上げ

( )



52 6 － 1 9 ×④ 2 8 ÷

－ 8 × 6③ 3 5 ÷ 5 5

3② 9 × 2 6 － 1 2 ÷

4 － 4 4 × 4

名まえ

・ 計算をしましょう。

① 1 6 0 ÷ 5

15

⑮ 力だめし

＜筆算スペース＞

( )

( )

( )

(各25点)

目指せ100点！

( )



名まえ

・ 計算をしましょう。

24 14 12

－ 1 2 ÷ 8
2

① 2 4 × 1 4

7

② 9 × 1 2 －
12

7 × 4
5

÷ 5
21

④ 1 1 2 ÷ 1

③ 3 × 7 － 6

4 － 6 ÷ 7
8

512 14

16

＜筆算スペース＞

( )

( )

( )

⑯ 力だめし

(各25点)

目指せ100点！

( )



② 8

日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 8 − 67 ×

＝

4 0 ÷

7＝

＝ 4

＝ 7

2× ÷ 2

＝ ×

＝ 8 0

÷ 2

1 ÷ 2

4 0 ÷ 6 − 2 ×

8

1 0 × 8

4

❸

１

① 例題 答え

(うすい字はなぞりましょう。)

❸

＜筆算スペース＞

❸

❷

❶

(

❶

❷

❷
❶

❷

❶

❸

)

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 5 × 7 − 3 ÷ 4

4

＝ 2 0 ÷ 4
20

＝ 5 × 4 ÷

＝ 5
5

② 3 6 ÷ 6 × 6

＝ 3 6 ÷ 3 × 6

−

＝ 7 2

3

＝ 1 2 × 6

36

12

72

② 確認 答え

2

❸

(うすい字はなぞりましょう。)

❸

＜筆算スペース＞

❸

❷

❶

(

❶

❷

❷
❶

❷

❶

❸

)

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 3 × 9 − 1

÷ 2

÷ 2

＝ 3 × 8 ÷ 2
24

＝ 2 4
12

② 1 8 ÷ 9 6 × 7

＝ 21

3 ×

−

7
6

18

＝ 6 × 7

＝ 1 8 ÷

42

＝ 4 2

③ 確認 答え

3

❸

(うすい字はなぞりましょう。)

❸

＜筆算スペース＞

❸

❷

❶

(

❶

❷

❷
❶

❷

❶

❸

)

( )



＝ 9

・ 計算をしましょう。

① 9 × 8 − 4 ÷ 6

6

÷

日にち：　　月　　日

名まえ

6

＝ 3 6 ÷ 6

× 4

② 2 1 ÷ 5 2 × 5

＝ 6

36

÷ 3 ×

−

5
7

21

＝ 7 ×

＝ 2 1

5
35

＝ 3 5

④ 確認 答え

4

❸

(うすい字はなぞりましょう。)

❸

＜筆算スペース＞

❸

❷

❶

(

❶

❷

❷
❶

❷

❶

❸

)

( )



× 5

÷ 6

5

＝ 6 0

＝ 1 2

÷ 8

8

＝ 9

2 ÷

＝ ×

5

3

÷ × 3

8 4 ÷ 7

1 × 5

日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 1 6× － 5 ÷ 3

3

2 4 9

2

②

1 0

＝ 7

÷

＝ 9 8

9

＝ 2 0

× － 4

×

＝ 6 0 ÷

5

＝

×

④ － 58 ×

＝ 2 1

9

＝ 6

－ 7 7

＝ 1 0

4 1

3③

3

2

8 ÷

÷ 8 2

3

2 1

5

×

５

⑤ 定着 答え

(うすい字はなぞりましょう。)

＜筆算スペース＞

( )

( )

( )

( )



・ 計算をしましょう。

① 1 2 × 5 6 － 4 8 ÷ 6
56 48

② 6 × 3 1 －

÷

日にち：　　月　　日

名まえ

6

＝ 9 6 ÷ 6

8

6 × 6 ÷ 2

96
＝ 1 2 × 8

③ 1 2 5 ÷ 9

＝ 3 6 ÷ 2

＝ 1 8

④ 3 6 ÷

× 2

＝ 2 5 × 2

＝ 1 2 5 ÷ 5

＝ 2 4

＝ 3 6 ÷ 6 × 4

1 2 － 6 × 4

24

12

＝ 6 × 4

＝ 5 0

2 － 8 7 × 2

2 5 ÷

6

＝ 1

＝

50

36 12

6

92 87125

5

25

31 25

6

36

18

2

6
16

6

(うすい字はなぞりましょう。)

＜筆算スペース＞

( )

( )

( )

( )

⑥ 定着 答え



日にち：　　月　　日

名まえ

・ 計算をしましょう。

56 32 28

－ 2 8 × 5
4

① 5 6 ÷ 3 2

5
14

＝ 1 4 × 5

＝ 5 6 ÷ 4 ×

② 2 × 1 1 －

70

＝ 7 0
11 5

5 × 8
6

＝ 2 × 6 ×

96

＝ 9 6
126 81

8
12

＝ 1 2 × 8

75

③ 1 2 6 ÷ 8 1 － 7

21

＝ 2 1 × 3

5 × 3
6

＝ 1 2 6 ÷ 6

63

6＝ 3
22 13

× 3

－ 9 ÷ 2
4

④ 2 2 × 1 3

44

＝ 44

2
88

＝ 8 ÷ 28

＝ 2 2 × 4 ÷

7

(うすい字はなぞりましょう。)

＜筆算スペース＞

( )

( )

( )

( )

⑦ 定着 答え



日にち：　　月　　日

名まえ

・ 計算をしましょう。

12 31 24

－ 2 4 ÷ 4
7

① 1 2 × 3 1

4
84

＝ 8 4 ÷ 4

＝ 1 2 × 7 ÷

② 6 × 1 2 －

21

＝ 2 1
12 8

8 × 3
4

＝ 6 × 4 ×

72

＝ 7 2
111 61

3
24

＝ 2 4 × 3

58

③ 1 1 1 ÷ 6 1 － 5

37

＝ 3 7 × 2

8 × 2
3

＝ 1 1 1 ÷ 3

74

＝ 7 4
81 17

× 2

－ 8 ÷ 9
9

④ 8 1 ÷ 1 7

1

＝ 1

9
9

＝ 9 ÷ 9

＝ 8 1 ÷ 9 ÷

8

＜筆算スペース＞

( )

( )

( )

( )

⑧ 定着 答え



日にち：　　月　　日

名まえ

・ 計算をしましょう。

10 72 63

－ 6 3 ÷ 6
9

① 1 0 × 7 2

6
90

＝ 9 0 ÷ 6

＝ 1 0 × 9 ÷

② 2 × 1 5 －

15

＝ 1 5
15 7

7 × 4
8

＝ 2 × 8 ×

64

＝ 6 4
200 52

4
16

＝ 1 6 × 4

48

③ 2 0 0 ÷ 5 2 － 4

50

＝ 5 0 × 2

8 × 2
4

＝ 2 0 0 ÷ 4

100

＝ 0 0
84 11

× 2

7
4

④ 8 4 ÷ 1 1

3

＝ 3

1

7
21

＝ 1 ÷ 72

＝ 8 4 ÷ 4 ÷

－ 7 ÷

9

＜筆算スペース＞

( )

( )

( )

( )

⑨ 定着 答え



＝ 4 5

7

0

0

＝ 9 × 5

－

＋ 1

6

2

1 5 ×

×

0

8 4 ÷＋

3 × 5

＝ 7 2 ÷ 8 × 5

7 2 ÷ 1 1

＝

＝ 2 1

1 2

1

＝ 5 0

＝

×

6 ÷

2

7

6

日にち：　　月　　日

名まえ

×

× 6

0 4 × 7

6 7×

3

3

3 3

1 ÷ 3

÷

・ 計算をしましょう。

① 5 － 41 2 6 ÷

②

＝ 1 4

③ 2

④

＝

＝ 1 2

21 5

×＝ 2 0

－

8

＝ 1 5 ÷

10

⑩ 仕上げ 答え

＜筆算スペース＞

( )

( )

( )

( )

( )



・ 計算をしましょう。

÷ 3①

＝ 6 × 7

＋＝ 6 × 3

② 8 × 5 4 － ÷

日にち：　　月　　日

名まえ

＝ 4 2
54 45

42

9
105 66

8
72

＝ 7 2 ÷ 8

＝ 8 × 9 ÷

③ 1 0 5 ÷ 6 6 － 5

15

＝ 1 5 × 4

9 × 4
7

＝ 1 0 5 ÷ 7

④ 2 1 ÷ 1 4

60

＝
21 14
6 0

× 9

3

＝ 3 × 9

＝ 2 1 ÷ 7 ×

27

＝ 2 7

4

4

9

－ 7

4 5

6 × ＋ 9

7

× 4

59

9

＝

8
9

11

＜筆算スペース＞

( )

( )

( )

⑪ 仕上げ 答え

( )

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

64 45 37

－ 3 7 × 4
8

① 6 4 ÷ 4 5

4
8

＝ 8 × 4

＝ 6 4 ÷ 8 ×

3

＝

② 6 ＋ 9

32

＝ 3 2

÷
30

5 ×

＝ 1 3
100 53

＝ 3 9 ÷ 3

3

49

3 0 ＋ 9 ÷

③ 1 0 0 ÷ 5 3 － 4 9 × 3
4

＝ 1 0 0 ÷ 4 3

×

25

＝ 2 5 × 3

× 6

1 3 × 3
3

6

－ 9

75

＝

④ 1 3 × 1 2

234

＝ 2 3 4

7 5
13 12

×

39

＝ 3 9 × 6

＝

12

＜筆算スペース＞

( )

( )

( )

⑫ 仕上げ 答え

( )

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

10 66 57

－ 5 7 ÷ 2
9

① 1 0 × 6 6

9

2
90

＝ 9 0 ÷ 2

＝ 1 0 × 9 ÷

② 4 × 1 5 －

45

＝ 4 5
15

9 × 8
6

＝ 4 × 6 ×

192

＝ 2

8
24

＝ 2 4 × 8

6

＝ 4 5 ÷

③ 4 5 ÷ 1 － 3 ×

＝ 1 5
126 12

＝ 4 5 ÷ 3

÷ 2
3

④ 2 6 ÷ 1 21

1＝ 2 6 ÷ 3 ÷

－ 9

8

1 9

21

＝ 12

2

2 1 － 1

2
42

＝ 2 ÷ 24

13

＜筆算スペース＞

( )

( )

( )

⑬ 仕上げ 答え

( )

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

12 61 56

－ 5 6 ÷ 3
5

① 1 2 × 6 1

3
60

＝ 6 0 ÷ 3

＝ 1 2 × 5 ÷

② 9 × 1 1 －

20

＝ 2 0
11 9

9 × 7
2

＝ 9 × 2 ×

126

＝ 2 6

7
18

＝ 1 8 × 7

③ 1 0 4 ÷ 6 6 － 6

26

＝ 2 6 × 5

2 × 5
4

＝ 1 0 4 ÷ 4

④ 8 ÷

130

＝ 1 3 0

×

＝ 1 9 × 4

＋＝ 1 2 4

6

1

＝ 7

7 ＋ 4 ×

7 ×

4 4

5

62104 66

14

＜筆算スペース＞

( )

( )

( )

⑭ 仕上げ 答え

( )

( )



2 ÷ 3

× 6

5

＝ 4 × 5

－

＝ 5 8

1

3 5 ÷ 5 － 4

＝ 4

＝ 2 0

－ 9 × 5

＝ 2 8 ÷ 7 ×

④ 2 8 ÷ 2 6

＝ 3 5 ÷ 7

＝ 5

2

③ 5 5

÷ 3

＝ 1 2 6 ÷ 3

＝ 9 × 1 4

3 5 ÷ 8

＝ 6 4

② 9 × 2

× 4

＝ 1 6 × 4

＝ 1 6 0 ÷ 1 0

6 － 1

4 － 4 4 × 4

名まえ

・ 計算をしましょう。

① 1 6 0 ÷ 5

15

⑮ 力だめし 答え

＜筆算スペース＞

( )

( )

( )

(各25点)

目指せ100点！

( )

( )



名まえ

・ 計算をしましょう。

24 14 12

－ 1 2 ÷ 8
2

① 2 4 × 1 4

8
48

＝ 4 8 ÷ 8

＝ 2 4 × 2 ÷

② 9 × 1 2 －

6

＝ 6
12 7

7 × 4

＝ 1 8 0

③ －

4
45

＝ 4 5 × 4

＝ 9 × 5 ×

6

180

＝ 1 5 ÷ 5

＝ 3

＝ 6

＝ 1 1 2 ÷

112 14

④ 1 1 2 ÷ 1 4

＝ 2

3 × 7 ÷ 5

＝ 1 4 ÷ 7

8 ÷ 7
14

－ 6 ÷ 7
8

5

21

2 1 － ÷ 5

2

16

＜筆算スペース＞

( )

( )

( )

⑯ 力だめし 答え

(各25点)

目指せ100点！

( )

( )


